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HT-1/Part-1
( 3TfeRa® 3feh- 20/Maximum Marks— 20 )

qe ;T 9N H HA 15 T 21 Gy Afrear €)1 g ueA & fod 02 s frwiia €

Note: There are 15 questions in this part. All questions are compulsory. Each question carries 02 marks.

. Frafafes aaet ¥ @ w8 (?) FaEd [ TR 9T 20 I |
BUCKET : ACTVBDJLDFSU :: BONUS :?
Find the mising term in the following analogy: [Answer Limit : 20 Words]

BUCKET : ACTVBDJLDFSU :: BONUS :?

. Trefefad wemi § odaEd 6 SHE-91 Th w97 R0 € 9 SH-H1 Th HUT Y9E 272
FUA 1 : STEHEN B gkl w1 ygfa sifue 2
FA 11 : JRI-SR & SFTIR SR & e ot # foadfer nfafafeet sk 2
[ TR HH=: 20 ]
In the following statements, identify which one is the cause and which one is the effect?

Statement I : Uttarkashi is very prone to earthquakes.
Statement II : According to seismologists, there is a lot of tectonic activities going on the down belt of

Uttarkashi. [Answer Limit : 20 Words]

.20 SO &, 30 9 Ao TR T fomer 1 S 9 4 (IR) ®1 3 YN o1 SHFRR HEF F[

Eaisefl [ 3T HH: 20 I |
The algebraic sum of the deviations of 20 observations, measured from 30, is 4 (four). Find the arithmetic
mean of these observations. [Answer Limit : 20 Words]
( L SR SR J e
3+ﬁ ﬁ+\/§ \/g_’_\/g \/§+1 ®1 HF A4 hifeE| [ S : 20 ] ]
' ( N SR S j o

Find the value of 3497 1445 513 Bl [Answer Limit : 20 Words]
. C T ¥AHS G& 21 C &1 500%, 500 C &1 foha % 872 [ ST | 20 I |
C is a positive number. What % of 500 C, is 500% of C? [Answer Limit : 20 Words]

. A T 9 B odT § 40% AE BIA & 91 ¥ B 1 A fohdd Wiav (%) wH 872
[ 3R 9 20 ¥ |
A’s salary is 40% more than B’s salary. By what percentage (%) B’s salary is less than A’s salary?
[Answer Limit : 20 Words]

. gfg 05 S, 2000 1 GHAR 7, 9 30 HE, 2000 1 HHA-|1 &7 B [ ST M 20 IE |

If 05™ January, 2000 is Monday, then what would be the day on 30" March, 2000?
[Answer Limit : 20 Words]

. T oAf 1 AR SN H T U S dielt, ‘gAh ot W fuar 1 seheldt i 21’ 39 st o oh
q 1 Gy 272 [ SR HH: 20 I |

Pointing towards a person, a woman said, ‘His wife is the only daughter of my father.” What is the relation
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of that person with the woman? [Answer Limit : 20 Words]

. A T AT @S T IR HeA 12‘%39413——@%141@11% g, a weAd €2

[ ST HH: 20 K ]

. . 1
If geometric mean of two positive numbers is 12 and their harmonic mean is IIE , then what are the

numbers? [Answer Limit : 20 Words]

Ao SRl w1 e steTEd © steel qeAieHe 1e? e shifs
[ ST HH: 20 K
Ethics is a Normative Study of Conduct or Positive Study? Discuss. [Answer Limit : 20 Words]
‘e’ & RN hl TR FHife| [ ST G 20 I
Elucidate the kinds of 'values'. [Answer Limit : 20 Words]
Hifaemer & &5 °, ST 1 1 1 ATEH B2 [ ST i 20 3= |
What is the contribution of Emmanuel Kant in the field of Ethics? [Answer Limit : 20 Words]
FE-FEpfa ¥ 9 o g 22 [ ST &0 20 3= |
What do you understand by work-culture? [Answer Limit : 20 Words]
dARde | G T9E 9o R 7?2 [ ST HiH: 20 9T |
What are the important values required in public service? [Answer Limit : 20 Words]
R0l TRl wed 872 [ ST & 20 3= |
What is Conduct? [Answer Limit : 20 Words]

HH1-2/Part-2

(Afepay - 50/Maximum Marks— 50)

F2 ;3@ 9N H HA 10 T T Gl wed s #) vy % T 05 ot i@ #)

Note: There are 10 questions in this part. All questions are compulsory. Each question carries 05 marks.

i Ffaere Hee fodasiel Arasien @ Fafud 22 Hfae fas=m wifsa [ ST €M 50 K |
Why Ethics is related to rational human life only? Discuss briefly. [Answer Limit : 50 Words]
Ifter ot =l TR | [ SR HHr: 50 I |
Describe moral attitude. [Answer Limit : 50 Words]
e SAfddd & AT & ®Y H  AEAHS Jqfg Hi faee il [ ST €M 50 K |
Discuss 'Emotional Intelligence' as a trait of human personality. [Answer Limit : 50 Words]
. HIARE IMEA e W Twh fewoft fafed [ 3T HH: 50 I |
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Write a note on Corporate Governance. [Answer Limit : 50 Words]

frfafea Tl w1 WE qFd g TSIt [ ST G 50 I |
3 4 1

E+£:l G _+_:_E

x 3y 6 Xy

Solve the following equations taking them as linear: [Answer Limit : 50 Words]

2,3 1 3.4 1

x 3y 6 and y 2

Th E IR MR AR U % Ve, AT ° sl & A 1 STAE A HITe |
[ 3T W 50 K |
Find the ratio of the volumes of cone, hamisphere and cylinder which are made with the same circular base

and height? [Answer Limit : 50 Words]
frefafaa sfirel &1 mifeaert aan 9gas @1 R FHawfa [ 3T HH: 50 T
25,33,72, 65,29, 60, 30, 54, 32, 53,42, 52,42, 51, 42, 48, 45, 47, 46, 33
Find the difference of median and mode of the following data : [Answer Limit : 50 Words]

25, 33,72, 65, 29, 60, 30, 54, 32, 53,42, 52,42, 51, 42, 48, 45, 47, 46, 33

Tk el & Tl 6 eiga eg 15 a9 ol S 5 o= oIl i, e Siga ey 12 9 6 e ®,
off yaw ez @ 9 g8 ke HI A g 6 HE WS | wel § YR H feRar formed €2

[ ST HM: 50 % |
The average age of a class was 15 years. When 5 more boys, whose average age was 12 years 6 months
were admitted in the class, the average age of the whole class was reduced by 6 months. How many students
were there in the class originally? [Answer Limit : 50 Words]

AT 150 FH 1 UL G 120 FHHS o faha god & aUer @, df gfaed | o 9 a3

[ 3R 9 50 I |
If the cost price of 150 shirts is equal to the selling price of 120 shirts, find the profit in percentage.

[Answer Limit : 50 Words]

foreht B ABC & &1 9t fageti B den ¢ & fodeniss wwn: (1, -2) iR (2, 3) &)1 diew ot A Y@
2x+y—2=0 W B B9 1 kel 8 o g 2 WY A & i W W

[ 3R 9 50 ¥ |

The coordinates of the vertices B and C of a triangle ABC are (1, —2) and (2, 3), respectively. Third vertex

A lies on the line 2x +y — 2 = 0. Area of the triangle is 8 square units. Find the coordinates of the vertex

A. [Answer Limit : 50 Words]
9r-3/Part-3

(AfumdH AF- 40/Maximum Marks— 40)

e ;@ A W HA 07 YA € qA1 02 WIS &l Wue-1 % 04 YT H © TRl 03 vl us @wue-2 &
03 wel | 9 o=t 02wl w1 S¥R e S erferd ®1 wekw e & forg 08 @ik freifa @

Note: There are 07 questions in this part and their 02 sections. It is compulsory to answer any three questions
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out of four selected from section-1 and any two questions out of three selected from section-2. Each

question carries 08 marks.

Section-1/9vs-1
General Aptitude/d™ = 31f¥&f=

e Tomme™ o fE e & 400 femneff 1 s @ 270 W, 300 %= den 50 fowE wEW Ued B
3 wa S M Ugd €, B ugd €1 20 M o foend wEN Ted €1 35 %W o faene wEiY ued
g1 = faenefl ®1 ageza 9 S €1 wihedr 99w R g T faenef %= we@ @ feg e
qen foorg weis &l Uedll ®ad dF IR@ &1 JAM Hifer| [ 3T EH: 125 I |

There are 400 students in a class of a school. Of these 270 study Maths, 300 French and 50 Business Studies.
All those who study Maths, study French also. 20 study Maths and Business studies. 35 study French and
Business studies. A student is selected at random. Find the probability that the selected student studies
French but neither Maths nor Business Studies. Use Venn diagram only.

[Answer Limit : 125 Words]

fordt e 1 A IR B 3t wEW: 7 9 14 A § g0 W €1 A 9 B I Aot < &K w2
YAl & 9. ¢ 39 w6 F wfga & 9 7, A e KT § g w S 21 e ¢ R fa o
3w & U HET? [ 3T W 125 91K |

A and B alone can complete a piece of work in 7 and 14 days, respectively. A and B work it together for 2
days and after 2 days, C joins them. Now, the work is completed in one day. In how many days can C alone

do that work? [Answer Limit : 125 Words]

12% =fteh HIEROT &S &1 €0 ¥ T sAfed oo 9 330,000 SR ol gl & o @1g 15,200 s i
QT YAl B Fl B QU I FE H oIy AR < a6 515, I R gwn < 22
[ TR HiEw: 125 9= |

A man borrowed ¥ 30,000 at the rate of 12% per annum simple interest from a bank. He paid ¥15,200 after
two years to the bank. How much he will have to pay after two more years, to clear the loan?

[Answer Limit : 125 Words]

T IARH T T F SRE G W p% AE o W d=d 21 A g8 Wewk Bl q% B 2l T,
qr gfaera o @19 A Hifsa [ TR € 125 9K |

A manufacturer sells an article at p% more than the cost of production. If he gives a discount of q% to the
customer, find the profit in percentage. [Answer Limit : 125 Words]

Section-2/40s-2
Ethics/3=R IMH

sifgfa &1 e #t faeem #ifs) [ ST M 125 U1 |

Discuss the formation of attitude. [Answer Limit : 125 Words]

T foeh= 1 ensti o1 TEl % fau @ AveE 27 s Sitd| [ ST €| 125 O |

What is the contribution of the teachings of Swami Vivekanand for Society? Explain.
[Answer Limit : 125 Words]
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32. IMEA | ‘SEERE’ & e 1 faa=m #ifsal [ ST G 125 I |
Discuss the importance of ‘Accountability’ in governance. [Answer Limit : 125 Words]|

HrT-4/Part-4

(At dH 3Ah- 80/Maximum Marks— 80)

e ;@ 9 H K 07 YT E 99l 02 WIS ¢ WUS-01 ® 04 YA ¥ ¥ fr=l 03 WAl wd @ue-02
% 03§ ° Tl 02 Twl 1 ST o Wi erferd 1 yeie wed % ford 16 o fuifa €

Note: There are 07 questions in this part and their 02 sections. It is compulsory to answer any three questions
out of four Section-1 and any two questions out to three selected from Section-2. Each question carries
16 marks.

Section-1/9vS-1
General Aptitude/SM™=a 31fsefa

33. U& fowa wsic &1 wRefas nfde w9 9, ffyea mfgs aa aun fara ® faem o e w® fslk
I B ad 2011 W, YUH WX HIE HI @ W, SHA T 26,272 1 Wiel &= AR Hed TRAHR T 5,284
e fRam We & 99 gU WEMl W 3UA T 43,008 1 WG o1 qO Hel WIRAME 9,376 U fwa
faspa wsie =1 ffy=a mfas aq9 den wHvE &1 R A6 Sifs3| [ TR i 250 IS |

A selling agent’s remuneration consists partly of a fixed montly salary and partly of a fixed percentage on
all sales effected by him. During the first four months of the year 2011, he sold goods for ¥ 26,272 and
received a total remuneration of ¥ 5,284. During the rest of the year, he sold goods for ¥ 43,008 and received

the total remuneration of ¥ 9,376. Find his montly salary and the percentage rate of commission.
[Answer Limit : 250 Words]

34, Uh IR 90 i oA 60 WX qe =gl 40 HX 2| THh! ool o HIeE & THHERR 4 HieX =g
T 9 & %% ¥ 86 S 21 T70 Ui o WX i X W <A T S 61 @H A S

[ SR 9iHr: 250 ¥ |
A rectangular garden is 60 metre long and 40 metre wide. Two cross paths, each 4 metre wide, are to be
constructed parallel to the sides of the garden. These paths pass through the centre of the garden. Find the

cost of construction of the two paths at the rate of I70 per square metre. [Answer Limit : 250 Words]
1,1
35 e et ;1 4. 1 [ TR F: 250 9 |
% + 1% 2+ ! I
2+ I
5_°
5
4l ol
Simplify: — 4. ! [Answer Limit : 250 Words]
%Hl 2+ ! I
2+ — 1
5
5

36. A,B @ C T& MR ¥ 9FER €1 A FESN 9AieR #1 e &M HH | T AT F 10% I07 & €9
o e € WS A R A H HEI: 2 2 3 : 4 H UG W siel S &1 ARG A el T3 @@ fHerd
&, B 9 C i 9« e arel i w wifsd [ ST T 250 e |
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A, B and C are partners in a business. A being working partner, receives 10% of the total profit as salary.

The remaining profit is distributed among them in the ratio 2 : 3 : 4, respectively. If A gets T 3 lac in all, then
find the amont received by B and C. [Answer Limit : 250 Words]
Section-2/9ve-2
Ethics/3AT=R MmM&A

Trh-TRmed | Hifaene i qfyert &t fad=m Sl [ ST FH: 250 I |
Discuss the role of Ethics in Public Administration. [Answer Limit : 250 Words]
IMEA T IRERIT & faw ‘g & AfuswR’ &1 gt &1 foee wift [ ST HH1: 250 U= |

Discuss the role of ‘Right to Information’ for transparency in Governance.
|[Answer Limit : 250 Words]

frefafad g &t wEurEs ufen qon 9@ 9 fae ™ we @ sWw SfsE:

i X TH AN AT S oo o efd Aty 71 9 famem & O sE w5 g sifafe

eI w €, 3Oferd foemerd & oI5 Skl el W SE w1 ST W 9 €1t A w wen forenedf

&1 IR FE fav 3 aut 9 Afd g 9% TS o) 39 &y H &t X° A o feft - uq ¥ w@nfa

% TAHH W T A9 | Ted W9 B ARE-YEH THA & (S @I ¥ 3HS URER & R 95

1 216 1) W B H, 39 famneff 7 oT9R ereATas i ST SR el ¥ Heifud HWaw 99 yRes

Y T

W9 1: 39 9RGed ¥ #HH-9 Guifed ge8 33d ©2

11: 39 IRferfd 1 fFE R Teamehl 1 SR Ffed &1 Sea=d A ST Tohdl 772

III: 39 9l & Hey o fao=m s fe &t <X &l =1 & =@nfed? [ STR M 250 IE |
Study the following case carefully and answer the questions that follow:
Mr. X’ is a veteran teacher who is very popular among his students. He frequently offers students extra
help after school, so it is not uncommon to see students visiting his classroom after school. He has tutored
one student ‘Swati’ in a variety of subjects over a two years period. During that time Mr. ‘X has e-mailed
messages on Swati’s cell phone, using his personal e-mail address. At first, the messages were very general
(e.g. asking Swati, about a sick family member). Recently, the student began to text her teacher about more
personal feelings.

Questions : I : What possible issues/concerns might this scenario raise?

II: How can this situation become a violation of the professional code of conduct for teachers?

III: Discuss the case "What should Mr. ‘X’ do?

[Answer Limit : 250 Words]
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